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P - I (1+1+1) G / 20 (N) / SUP

2020

ZOOLOGY (General)
Paper Code : II A & B

[New Syllabus]
(Supplementary)

Important Instructions
for Multiple Choice Question (MCQ)

 Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).

Subject Code : III A & B

Subject Name :

 Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is ‘CORRECT’ answer. The candidate has to write
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.
Example — If alternative A of 1 is correct, then write :

1. — A
 There is no negative marking for wrong answer.
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Paper Code : II - A
Full Marks : 10 Time : Thirty Minutes

Choose the correct answer.

Each question carries 1 mark.

1. Which of the following is the most stable ecosystem ?

(A) Mountain

(B) Forest

(C) Desert

(D) Ocean

1Ð ˜#öì‰þîû ö„þy˜!Ýþ ¢îöì‰þöìëû ßþiyëû# îylßþ“þsþfÚ

(A) þ™îÅ“þ

(B) î˜

(C) ›îû&¦)þ!›

(D) ›£y¢y†îû

2. Honey bee is —

(A) Social insect

(B) Pest

(C) Reptiles

(D) Vector

2Ð ö›ï›y!Šé £œ éôôôé

(A) þ™“þD

(B) öþ™ÞÝþ

(C) ¢îû#¢,þ™

(D) ö¦þQîû
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3. Which pyramid cannot inverted ?

(A) Pyramid of number

(B) Pyramid of Biomass

(C) Pyramid of energy

(D) All of the above

3Ð ö„þy˜ !þ™îûy!›vþ vþzÎÝþyöì̃ y ëyëû ˜yÚ

(A) ¢‚…Äyîû !þ™îûy!›vþ

(B) ‹#î¦þöìîûîû !þ™îûy!›vþ

(C) Ÿ!_«îû !þ™îûy!›vþ

(D) vþzþ™öìîûîû ¢î=!œ£z

4. Jaldapara National Park is famous for —

(A) Deer

(B) Monkey

(C) Crocodile

(D) Single horned rhino

4Ð ‹œ”yþ™yvþüy ‹y“þ#ëû vþz”Äyöì̃ îû !î…Äy“þ £çëûyîû „þyîû’ éôôôé

(A) £!îû’

(B) î¤y”îû

(C) „%þ!›îû

(D) ~„þŸ,D †[þyîû
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5. Itaiitai caused by —

(A) Cd

(B) Pb

(C) Hg

(D) As

5Ð £zÝþy£zéôé£zÝþy£z öîûyöì†îû „þyîû’ £œ éôôôé

(A) Cd

(B) Pb

(C) Hg

(D) As

6. Chimpanzee can be found in —

(A) Oriental realm

(B) Australian realm

(C) Ethiopian realm

(D) Neo-tropical realm

6Ð !ŸÁ™y!O ö”…öì“þ þ™yçëûy ëyëû éôôôé

(A) ç!îûöìëûrÝþyœ !îûxy›äéôé~

(B) xöìßþTÉ!œëûy˜ !îûxy›äéôé~

(C) £z!íç!þ™ëûy˜ !îûxy›äéôé~

(D) !˜çÝþÆ!þ™„þyœ !îûxy›äéôé~
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7. Waggel dance are performed for —

(A) Food searching

(B) Mate searching

(C) Naptual flight

(D) Defense purpose

7Ð çëûy†œ ,̃“þÄ þ™!îûöìî!Ÿ“þ £ëû éôôôé

(A) …yöì”Äîû ¢õþyöì̃

(B) ¢D#îû ¢õþyöì̃

(C) ÷îîy!£„þ vþzUþëûöì̃

(D) xydîûÇþyîû ‹˜Ä

8. Mutation theory was proposed by —

(A) Darwin

(B) De Vries

(C) Lamarck

(D) Oparine

8Ð þ™!îûîÄ!_« “þöì_î́û ²Ìî_«y îöìœ˜éôôôé

(A) vþyîûvþz£z̃

(B) !vþ !¼¢

(C) œÄy›y„Åþ

(D) çþ™y!îû̃
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9. Lung fish (Protopterus sp.) is found in —

(A) South Africa

(B) North America

(C) Australia

(D) Europe

9Ð œy‚!šþŸ (Protopterus sp.) þ™yçëûy ëyëû éôôôé

(A) ”!Çþ’ xy!šÊþ„þy

(B) vþz_îû xyöì›!îû„þy

(C) xöìßþTÉ!œëûy

(D) £zvþzöìîûyþ™

10. Theory of inheritance of acquired characters was given by —

(A) Wallace

(B) Lamarck

(C) Darwin

(D) De Vries

10Ð x!‹Å“þ ÷î!ŸöìÜTÄîû vþz_îûy!•„þyîû “þ_!́Ýþ !”öìëû!Šéöìœ˜ éôôôé

(A) çëûyöìœ¢

(B) œÄy›y„Åþ

(C) vþyîûvþz£z̃

(D) !vþ !¼¢

—————
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P - I (1+1+1) G / 20 (N) / SUP

2020

ZOOLOGY (General)
Paper Code : II B
[New Syllabus]

(Supplementary)

Full Marks : 40 Time : One Hour Thirty Minutes

The figures in the margin indicate full marks.

Write your answer within one page for the questions carrying 4 marks each
and within three pages for the questions carrying 12 marks each.

Unit - I

(Ecology, Environmental Biology, Wild Life and Animal Behaviour)

1. Answer any two questions : 4×2=8

(a) Write a short note on National Park and Sanctuary. 4

(b) What is Biomagnification? 4

(c) Write a short note on Mimicry with suitable example. 4

(d) What is Eutrophication? How does it caused water pollution? 2+2

2. Answer any one question : 12×1=12

(a) What is FAP? Differentiate between innate and learning behaviour. What
is Royal jelly ? Define Social Behaviour in Insects. 3+2+5+2

(b) Define the causes of air pollution. Write a short note on Global Warming
and Green House Gases. 5+3+4

(c) Define Ecosystem. State the types of Ecological pyramids and explain
them briefly. 2+1+3+3+3
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Unit - 2

(Taxonomy, Systematics and Evolution)

3. Answer any two questions : 4×2=8

(a) What is aquatic adaptation and Volant adaptation? 2+2

(b) What is modern synthetic theory on evolution? 4

(c) Write a short note on Hardy-Weinberg equilibrium. 4

(d) Define sibling species with suitable examples. 2+2

4. Answer any one question : 12×1=12

(a) Define taxonomy, systematics and classification. Write the principle of
“binomial nomenclature”. (2+2+2)+6

(b) Write a note on Zoogeographical realms. Define the geographical areas
of Orientals, Australian, Ethiopian realm and name any three examples
of each the fish, bird, reptiles and mammalians that found here.

1+3+2+2+2+2

(c) Write a note on alpha, beta, gamma biodiversity. What is linnean
hierarchy? Write the adaptive significance of mimicry and colouration.
Write the characteristics of Volant adaptation. 3+1+3+5

îDy %̃îy”
£zvþz!˜Ýþ éôé 1

(Ecology, Environmental Biology, Wild life and Animal Behaviour)

1Ð öë ö„þyöì̃ y ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 4×2=8

S„þV Ýþ#„þy öœ… éôôôé ‹y“þ#ëû vþz”Äy˜ ~î‚ x¦þëûyîû’ÄÐ 4

S…V ÷‹î!îî•Å̃  „þyöì„þ îöìœÚ 4

S†V vþz”y£îû’¢£öìëyöì† x %̃„,þ!“þîû Ýþ#„þy öœ…Ð 4

S‡V £zvþzöìÝþÆy!šþöì„þŸ˜ „þ#Ú £z£yîû myîûy „þ# „þöìîû ‹œ”)¡ì’ £ëûÚ 2+2=4
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2Ð öë ö„þyöì̃ y ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 12×1=12

S„þV FAP „þ#Ú ‹§Ã†“þ ~î‚ !ŸÇþy†“þ îÄî£yöìîûîû þ™yíÅ„þÄ öœ…Ð îûëûÄyœ ö‹!œ „þ#Ú
þ™“þDöì”îû ¢y›y!‹„þ îÄî£yîû îœöì“þ „þ# öîyGþÚ 3+2+5+2

S…V îyëû%”)¡ìöì’îû ²Ì•y˜ „þyîû’=!œ öœ…Ð Ýþ#„þy öœ… éôôôé ö@Õyîyœ çëûyîû!›‚ ~î‚ !@ùÌ˜
£yvþz¢ †Äy¢Ð 5+4+3

S†V îylßþ“þsþf „þ#Ú îyhßþ“þöìsþf „þëû •îûöì̃ îû !þ™îûy!›vþ ö”…y ëyëûÚ “þyöì”îû ¢Á™öì„Åþ !îhßþy!îû“þ
xyöìœy‰þ˜y „þîûÐ 2+1+3+3+3

£zvþz!˜Ýþ éôé 2

(Taxonomy, Systematics and Evolution)

3Ð öë ö„þyöì̃ y ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 4×2=8

S„þV ‹œ‹ ~î‚ ö…‰þîû x!¦þöìëy‹˜ „þ#Ú 2+2

S…V x!¦þîÄ!_«öì“þ ›vþy Å̃ !¢˜öìí!Ýþ„þ ›“þîy” îœöì“þ „þ# öîyGþÚ 4

S†V £y!vÅþéôéçëûy£z̃ îy†Å ¢y›Äyîßþiy ¢Á™öì„Åþ Ýþ#„þy öœ…Ð 4

S‡V !¢î!œ‚ !ßþ™!¢¢ „þ#Ú vþz”y£îû’ ”yçÐ 2+2

4Ð öë ö„þyöì̃ y ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 12×1=12

S„þV ÝþÄyöì:y˜!›– !¢öìÞÝþöì›!Ýþ„þ¢ ç ö×!’!î˜Äy¢ îœöì“þ „þ# öîyGþÚ !mþ™”˜y›„þîûöì’îû
˜#!“þ=!œ xyöìœy‰þ˜y „þîûÐ 2+2+2+6

S…V ‹%!‹ç@ùÌÄy!šþ„þÄyœ !îûxy› îœöì“þ „þ# öîyGþÚ ç!îûöìëûrÝþyœ– xöìßþTÉ!œëûy˜– £z!íç!þ™ëûy˜
!îûxy›éôé~îû ¢#›y˜y öœ… ~î‚ ~…yöì̃  þ™yçëûy ëyëû ~›˜ ›yŠé– þ™Çþ#– ¢îû#¢,þ™ ~î‚
hßþ˜Äþ™yëû# ²Ìy’#öì”îû !“þ˜!Ýþ „þöìîû vþz”y£îû’ ”yçÐ 1+3+2+2+2+2

S†V xyœšþy– !îÝþy– †y›y ‹#î÷ìî!‰eÄ îœöì“þ „þ# öîyGþÚ !œ!˜ëûy˜ !£ëûyxy!„Åþ îœöì“þ !„þ
öîyGþÚ x %̃„,þ!“þ ç î’Åy@ùÌöì£îû x!¦þöìëy‹˜†“þ =îû&c öœ…Ð ö…‰þîû x!¦þöìëy‹öì̃ îû
÷î!ŸÜTÄ öœ…Ð 3+1+3+5

—————


